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Resumo Teórico

•	 Inferir o significado de uma palavra desconhecida ajuda na melhor 
compreensão daquele trecho do texto.

•	 O vocábulo precisa ser contextualizado para ser corretamente 
compreendido.

•	 O significado real da palavra não precisa ser descoberto. O que 
importa é a compreensão da ideia da palavra dentro do contexto.

•	 A identificação dos afixos (prefixos e sufixos) ajuda bastante na 
compreensão do significado da palavra.

•	 A identificação da classe gramatical da palavra também ajuda na 
compreensão do seu sentido e sua contextualização no trecho a 
ser identificado.

•	 Todas as palavras desconhecidas aparecem permeadas por outras 
de clara identificação, como cognatos, estrangeirismos ou palavras 
que fazem parte do seu vocabulário.

Exercícios

01.	 Read the sentences and try to identify the meaning of the 
highlighted words.
A)	During the investigation, the police found out that a terrorist cell 

was the culprit for the terrible attack. _______________________
B)	Reading may enhance your vocabulary. _____________
C)	Archaeologists always seek for evidences for old civilizations. 

_______________________
D)	You can’t suggest that legislation from the EU is hampering 

future growth. ___________________
E)	 A great number of families moved to the city due to dearth 

of food and water. _________________
F)	 The way they depicted the incident did not convince the 

authorities they were innocent. _______________________
G)	Some people find it very difficult to deal with the burden of 

dedicating to many years of studies. _______________________
H)	The idea of the government was to curtail the expenses 

because of the economic crisis the country was facing. 
_______________________

I)	 The hospital was very grateful for the endowment provided 
by local businessmen. ______________

J)	 The actor was accused of harassment and then taken into 
court. _______________________

•	 Texto para as questões 02 a 05

APPLE ICLOUD SECURITY EXPLOIT IS A CONCERN, 
EXPERTS SAY 

Apple’s iCloud facility, which stores iPhone and iPad users’ photos 
and personal data, has a “fundamental security flaw”, an expert 

has warned.

The online service is under scrutiny after intimate 
images of celebrities were stolen and leaked. It has emerged 
that a security measure called two-step verification, which is 
recommended by Apple, can be bypassed using easily available 
software that allows access to iCloud back-ups. Apple declined 
to comment.

The program still requires hackers to know the user’s 
email address and password, and there is no clear evidence 
that it was used in the recent breaches. Two-step verification 
- which requires a user to type in a short code sent by Apple 
to their phone or tablet in order to access their account - is 
supposed to offer an extra level of protection. Apple suggested 
its customers “always use a strong password and enable 
two-step verification” after it acknowledged that some of its 
accounts had been compromised by a “very targeted attack”.

But one expert said Apple had given people “a false 
sense of security”. Technology magazine Wired first reported 
that software from a Russian firm, ElcomSoft, was being 
mentioned on a hacker’s discussion group as a useful tool for 
infiltrating iCloud accounts. The program, marketed to law 
enforcement agencies, claims to offer access to iCloud content 
without the operator needing to be in possession of the iPhone 
or iPad concerned. It uses a system devised by Moscow-based 
computer programmer Vladimir Katalov, which downloads 
copies of iCloud data. It is not known whether the facility was 
utilized by those who stole naked images of Jennifer Lawrence 
and others.

But Mr. Katalov told the BBC that, although he could 
not be “100% sure”, he believed the software was used in 
the recent celebrity hacks, as ElcomSoft’s program is “the only 
one able to do that”.

He added that while his company “didn’t like it much” 
when the software was used for illegal purposes, it had sold 
the system to individuals, as well as authorities.

Security expert Mikko Hypponen told the BBC the 
issue lay in the design of Apple’s two-step verification system, 
which he believed was “implemented only to protect your 
credit card”.

Disponível em:<http://www.bbc.com/news/technology-29045789>. 
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02.	 De acordo com o texto,
A)	o serviço da empresa Apple conhecido como iCloud tem sofrido 

constante ameaças de invasão por parte de hackers baseados 
na Rússia.

B)	a empresa russa ElcomSoft é a principal suspeita de ter invadido 
o serviço conhecido como iCloud e de ter disponibilizado fotos 
íntimas de celebridades.

C)	a Apple reconheceu uma certa vulnerabilidade na segurança de 
seu serviço conhecido como iCloud e sugeriu um maior nível 
de proteção para seus usuários. 

D)	o programa desenvolvido pela empresa russa ElcomSoft só pode 
ser utilizado para fins de invasão de computadores remotos.

E)	 Vladimir Katalov é o responsável pelo desenvolvimento de um 
programa que permite a invasão de um serviço da empresa 
Apple conhecido como iCloud, assim como a clonagem de 
cartões de crédito de usuários de várias partes do mundo.

03.	 Analise as proposições abaixo e em seguida escolha a alternativa 
correta: 
I – O serviço da empresa Apple conhecido como iCloud tem falhas 

que permitem acesso fácil a informações supostamente seguras 
de seus usuários.

II – A empresa Apple fez mudanças no seu sistema de segurança 
que passa a exigir que seus usuários usem senhas mais seguras 
e códigos de verificação enviados pela própria empresa.

III – A empresa russa ElcomSoft é a única do planeta capaz de 
invadir o banco de dados da Apple, pois desenvolveu um 
programa de consegue detectar as senhas e os códigos de 
segurança dos clientes da empresa americana.

•	 Está(ão) correta(s):
A)	Todas as afirmações.
B)	Nenhuma das afirmações.
C)	Apenas a afirmação I.
D)	Apenas a afirmação II.
E)	 Apenas a afirmações II e III. 

04.	 Escolha a alternativa que traz o par de sinônimos correto em 
relação aos vocábulos retirados do texto em questão:
A)	Scrutiny – Leaked
B)	Required – Recommended
C)	Decline – Acknowledge
D)	Tool – Content
E)	 Access – Infiltrate 

05.	 Analise a frase extraída do texto e escolha a opção correta:

	 “It uses a system devised by Moscow-based computer 
programmer Vladimir Katalov, which downloads copies of 
iCloud data.”

A)	O pronome relativo which pode ser substituído pelo pronome 
relativo that sem haver alteração no sentido da frase.

B)	O vocábulo data é a forma singular de datum.
C)	A voz ativa da primeira parte da oração seria “Moscow-based 

computer programmer Vladimir Katalov devises the system 
used.”

D)	O pronome relativo which se rerefere ao sistema desenvolvido 
pelo programador russo.

E)	 “Moscow-based computer programmer” faz referência à 
empresa que desenvolveu o sistema e tem sua base na capital 
russa.

EBOLA: US RESTRICTS AIRPORT ARRIVALS FROM WEST 
AFRICA

	 New US rules requiring air passengers from the three West African 
countries worst hit by Ebola to travel via one of five airports are 
coming into effect.

Travellers from Sierra Leone, Liberia or Guinea must now 
arrive at O’Hare in Chicago, JFK, Newark, Washington’s Dulles or 
Atlanta, where they will undergo enhanced screening.

The World Health Organization is due to convene an 
emergency meeting later. The current outbreak of the virus has 
already killed more than 4,500 people. Most of the deaths have 
been in Guinea, Liberia and Sierra Leone.

Travelers from these countries will have their temperatures 
checked as part of screening programmes, despite experts 
warning such moves are unlikely to have an impact. The new 
security measures come as public concern grows in the US, where 
three people have been infected and one person has died from 
the virus.

Disponível em: <http://www.bbc.com/news/world-us-canada-29719240>. 

06.	 De acordo com o texto,
A)	o governo dos Estados Unidos tomou uma medida que visa 

proibir a entrada no país de passageiros oriundos de países 
atingidos pelo Ebola.

B)	a medida tomada pelo governo dos Estados Unidos deve ser 
aplicada nos cinco principais aeroportos do país.

C)	os passageiros que desembarcarem nos Estados Unidos 
vindos dos países africanos mais atingidos pela epidemia de 
Ebola devem desembarcar em aeroportos específicos e se 
submeterem exames mais detalhados.

D)	apenas os passageiros de nacionalidade africana serão 
convidados a passarem por exames detalhados para a 
verificação de uma possível contaminação por Ebola.

E)	 os Estados Unidos tomaram uma medida para proibir a entrada 
em seu território de passageiros vindos dos países africanos 
atingidos pela epidemia de Ebola que se recusem a passar por 
exames detalhados para a detecção do vírus.

07.	 Analisando-se a frase “...despite experts warning such moves are 
unlikely to have an impact.” pode-se concluir que as medidas 
tomadas.
A)	não terão o efeito desejado.
B)	 são improváveis de surtirem algum efeito prático.
C)	são inúteis para o combate à doença.
D)	estão atrasadas para surtirem algum efeito prático.
E)	 não ajudarão em nada no controle da doença. 

08.	 A expressão “to convene” presente na frase “The World Health 
Organization is due to convene an emergency meeting later.” 
pode ser substituído por todas as alternativas abaixo, exceto:
A)	call off
B)	assemble
C)	call
D)	convoque
E)	 muster

09.	 Escolha a alternativa que traz uma frase do texto acima que esteja 
escrita na voz passiva:
A)	…where they will undergo enhanced screening.
B)	The World Health Organization is due to convene an emergency 

meeting later.
C)	Travelers from these countries will have their temperatures 

checked as part of screening programmes…
D)	The new security measures come as public concern grows in 

the US…
E)	 and one person has died from the virus.
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10.	 Analise a charge e marque a opção correta: 
A)	O pai está respondendo a um questionamento do filho sobre 

algo que o garoto não entendeu em um programa de televisão.
B)	O pai está explicando para o filho o que seria sexo com base 

em programas que o garoto assiste na televisão.
C)	O pai está justificando para o filho porque a mãe do garoto 

sempre muda de canal quando algo relacionado a sexo aparece 
na televisão.

D)	O pai está respondendo o filho uma pergunta que o garoto 
fez sobre o que seria sexo.

E)	 O pai está desencorajando o filho a assistir programas com 
conotação sexual na televisão.

11.	 A pergunta feita pelo garoto para o pai, no discurso direto, seria:
A)	‘Dad, can you tell me what sex is?’
B)	 ‘Dad, can you tell me what is sex?’
C)	‘Dad, you can tell me what sex is?’
D)	‘Dad, could you tell to me what sex is?’
E)	 ‘Dad, can you say what is sex for me?’

STONEHENGE SECRETS REVEALED BY UNDERGROUND MAP
By Maria Dasi Espuig Science reporter, Birmingham

Archaeologists have unveiled the most detailed map ever 
produced of the earth beneath Stonehenge and its surrounds. They 
combined different instruments to scan the area to a depth of three 
metres, with unprecedented resolution. Early results suggest that the 
iconic monument did not stand alone, but was accompanied by 17 
neighbouring shrines. Future, detailed analysis of this vast collection of 
data will produce a brand new account of how Stonehenge’s landscape 
evolved over time.

Among the surprises yielded by the research are traces of up 
to 60 huge stones or pillars which formed part of the 1.5km-wide 
“super henge” previously identified at nearby Durrington Walls. 
“For the past four years we have been looking at this amazing 
monument to try and see what was around it,” Prof Vincent 
Gaffney, from the University of Birmingham, said at the British 
Science Festival. 

“What was within its landscape?” Most of the land 
surrounding Stonehenge had not been surveyed in this manner 
before and Prof Gaffney, the project’s lead researcher, said one key 
question always remained: “Was it really an excluded place, where 
only special people would come?”

The team’s new three-dimensional map, which covers an 
area of 12 sq.km or 1,250 football fields, shows that this was not 
the case. Researchers used six different techniques to scan the 
whole site at different depths below the surface. Amongst their 
instruments was a magnetometer, a ground-penetrating radar (GPR) 
and a 3D laser scanner.

Disponível em: <http://www.bbc.com/news/science-environment-29126854 >.

12.	 De acordo com a leitura do texto conclui-se que, como resultado 
da pesquisa descrita, poderemos ter
A)	informações precisas de quem realmente construí o misterioso 

monumento de pedras chamado Stonehenge.
B)	uma detalhada explicação das cerimônias realizadas por 

povos antigos na região onde se localiza o monumento de 
Stonehenge.

C)	uma ideia de como a paisagem de Stonehenge evoluiu ao 
longo dos tempos.

D)	ter a confirmação definitiva de que, na verdade, Stonehenge 
compreende um complexo de 17 outros monumentos 
espalhados por uma vasta área da região.

E)	 o primeiro mapa de toda a região onde se localiza o famoso 
monumento de Stonehenge.

13.	 Analise as proposições abaixo e, em seguida, escolha a alternativa 
correta com base na leitura do texto.
I – Traços de um outro monumento, muito maior que o já 

descoberto, foram identificados pelos pesquisadores.
II – Foi a primeira vez que o entorno do monumento de 

Stonehenge foi estudado dessa forma.
III – Os resultados do estudo responderam todas as dúvidas 

acerca dos mistérios que envolvem o famoso monumento de 
Stonehenge.

•	 Está(ão) correto(s)
A)	Apenas a asserção I
B)	Apenas a asserção II
C)	Apenas as asserções I e III
D)	Apenas as asserções I e II
E)	 Nenhuma das asserções

14.	 O vocábulo yielded, destacado no texto, encontra sinônimos em 
todas as alternativas a seguir, exceto:
A)	earned
B)	picked up
C)	produced
D)	harvested
E)	 turned out
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15.	 As palavras do Professor Vincent Gaffney, que podem ser 
encontradas no segundo parágrafo do texto, se reescritas no 
discurso indireto seriam:
A)	Professor Vincent Gaffney pointed out that for the past four 

years they had been looking at this amazing monument to try 
and see what was around it.

B)	Professor Vincent Gaffney argued that for the past four years 
they had been looking at this amazing monument trying and 
seeing what has been around it.

C)	Professor Vincent Gaffney said that for the past four years he 
has been looking at this amazing monument to try and see 
what was around it.

D)	Professor Vincent Gaffney assured that for the past four years 
they had been looking at this amazing monument to tried and 
saw what was around it.

E)	 Professor Vincent Gaffney complained that for the past four 
years they had been looking at this amazing monument to try 
and see what was around it.
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